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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

140 1 —@—  setVI_ETcl
—0— setVl _fgRec

1201 —@—  siSetVI

100

80

\

60

40

S missing

20 :




1

1

1

0

0

1

1

1

1

1

1

1

3

3

3

3

2

2

2

Trend plot forMG_ O

Warning: col ['minFVliraw',

"minFVOraw' ] is missin

I
|
i
|
|
I
1
1
I
|
1
I
|
1
1
1
|
|
|
1
g

minFVI
minFVO

. 04

. 02 ~

.00 -

. 98

.96

1.0

-

—@— ETcA

Warning: col [ ETcAlraw’,

"ETcA1’,

"ETcA2raw’, "ET

e ———————

A2"] is missing

0.2

=

NG S

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

800 -

700

600 -

500 A

400 -

300 -

200

——

ECopt

Warning: co

[’ ECC’, 'ECI’

"ECO’] |is missing

6.8 1

—@— PHopt

Warning: col

[’ PHC', 'PHI’

"PHO'] |is missing

o o o o o

1.5 4

1.0 -

0.5 -

0.0 A

9.5

9.0 -

8.5 A

—@— WCperM

Warning: col ['WCperMraw',

"WCperMavg'] is missin

o—o—0—=0 i
d

.90 A

.45

.40 ~

.35 A

.30

. 25 A

.20 -

minDeltaM
avgDeltaM
stdDeltaM

—0—{

@ ——— = —————— - — -8

30 A

28 A

26 A

24 -

22 -

20 -

begM 1
maxM
minM

@ ———— - ——— =&

0—0—{

. 04 1

.02 1

adjFVOR

.00

. 02 1

. 04

Warning: col [ adjFVIRraw’

"adjFVIR",

’adeVORraw:] is missing

. 38

. 36

. 34

.32

.30 A

. 28 -

. 26 A

. 24

Warning: col ['FRA’]

—e

200 -

150

100 -

50 -

®
—Q—
——

postFgEtraw
postFgEtavg
postFgEt




FgDaily

- 100

- 60
- 40

0.0 -
.0 -
2.0 -
3.0 -
4.0 -
5.0 -
7.0 -
8.0 -
9.0 -

1

o 6.0 -



MG_O

Warning: col ['VN'] missing

—e— PPFD

—@— ETclis
—0— ETcPT
—@— ETcRn

0.8 A
0.4 A
0.2 -

0.6 -

800 -

700 -
500 -
400 -
300 -
200 -
100 A
400 -
350 -
300 -
250 -
200 -
150 -
100 4
75
70
65 -
60
55 -
50
45 -

500
400 -

300 -

200
100

16

14

12

10



ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

1
ETcl

ETcldef ETcP

ETcPT ETclls So EToI ETbal pR pVPD PPFD

RH

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

RH

° ° ° °
600 . . . .
® ° ° °
® ® ° °
500 : : : .
° ° ° °
H ¢ ° ° ¢ %
007 | ® | ° ¢ I ° | ®e
300 + < o ® ® i ) ® | e ©
¢ o © oe < o °
200 1 T ° T ° T ° 7
° ° ° °
° ° ° °
100 4 41 ® 41 ® i o | (]
1400 ¢ o . . ¢ o . g . ®
e - ~ C ]
1200 J °* . | | . | e © | )
[} ° ° °
o 00 ® o c‘o’o° ° g [ o « o &°
1000 : : : .
() ® (] °® ()Y ° ®
800 - . . . .
60041 © e < ) 4 ° Jeo
40014 i I i o | °
° ° ° °
° ° ® °
229 oo ® °® ® ° ©% o o T 0.0.6 ] ° ° 0..0 °
(.. ) ° [ ] :. o) ) .. : ..)l. °
20 - ([ J 4 [ J 4 4 [ J i ([ J
- ° ° ° °
18 : : : .
16 . . . .
° ° j ° °
e Te Te i 1 °
70 . . . .
65 - : : : .
| eo0o g o | ° 2 ° o o | e®0® 0 e ° a o o
60 o ©° ® 0‘3 ..o° ° :.
(] ] () 9
55 ° | ° | ° | i °
50 - %o - o® 1 ° o | ] o
45 ) . ) - ) - )
400 ~ ® ® 9 7 ® @ Y ® o 7 ® (] T
® 0 ® ®
350 - % %%e* o ® e ° ® %@’ :
® ) ° °
300 - : : : .
e O [ ] o () ) @)
250 - . . . .
2004 o - ° _ ° _ ° i
150 - 1 1 1 :
° ° ° °
100 - : : : .
° ° ° °
T T T T T T T T T T T T T T
200 400 600 500 750 1000 1250 16 18 20 22 50 60 70 100 200 300 400

ETcl ETol T RH I



hour

100

80

:00
:20 - 60

125

- 40

125

125

:30

:50

§_

‘*@»
>
5
T
%



MG

Bf(E) | GEBIRS K () | BME (EA/MK) | XS R

06:25 156 0.0 5|  TiHA06:25 KRENFEF CRATERER)
07:25 156 90.0 5|  FHAe07:25 RHEIEF CRAERE)
09:00 156 0.0 5|  HAe09:00 RHEIEF CRAERZE)
10:20 156 0.0 5|  TiHA10:20 REIEF CRAERR)
11:25 156 90.0 5| FiHAe11:25 REIEF CRAERER)
12:25 156 0.0 5|  ffe12:25 RHMEF CRAERSE)
13:25 156 90.0 5|  TiHAe13:25 REIEF CRAERR)
14:30 156 90.0 5| TiHAe14:30 REIEF CRAERR)
15:50 156 0.0 5| HAe15:50 RHMEF CRAERSE)
Sit] 1404.0 (9%) 450.0 323 REC: 1800.0, PH: 6.5

FE K 1t [ RECEI R ER K .

REREBHHEREC/PHETRE, 7]

RERZMMARELR R




FRV (ml plant-1)

ET (ml/hr/plant)

MG_0, Day=13 (2025-05-13)

V1, VO2fRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

05
00 |

429

00 0O

- 600

- 400

- 200

TargetEC=1800. 0,  TargetSetEC=1800. 0

0.2~

TargetPH=6. 5, TargetSetPH=6.5

0.0
100 S

75

50 -

25 A

1
|
|
ByWoFy @D13 03:28: ET=429 Fg=450.0 Ro=14.0
:
1
1
1
1

1.0

=
(2]
o
o

cumET (ml/plant)

T
S
o
o

T
N
o
o

0glZ=| B | | W | 1A | [/ | m@ |

0.6 1

0.4+

0.2~

0.0
800 4

600
400 -

200 ~

"PPFD_obs’] is missing

A varfing: kol

30 7

25 A

20 A

15 4

"To_obs'] is missing

ning: lcol ['T_o

80

60

40 -

—— RH

"RHo_obs’] is miss]|

Warning: lcol ['RH_obs’,

0.6 1

0.4+

0.2~

0.0

0.0

0.2 0.4 0.6

0.8

1.

0

FRV (ml d-1)



hour

:00

:00

:50

:55

105

:20

145

100

80

- 60

- 40

% & L B &
A4 & B X B B[
(’,\ ,% \ N _‘)@ V 1N 1
% ] Q\z\ \ )&’6

A

\%_
%,
) -
e
ey
>
“
4
%,
&
T B

%

%

o
-



MG

BfiE) | GEBIETK (D) | EHE (EH/ER) | XK R

06:00 138 50.0 [£=| 1Ri%@06:00 KREFEF (RAFEHE)
07:00 138 50.0 [Z=| 1BRi%@07:00 KEIEF CGRAEESE)
09:10 138 50. 0 FH| {Ri%009:10 KREFEF (CGRAEREE)
10:50 138 50.0 FA| 1ERi%@10:50 KEFEF (KRFEERES)
11:55 138 50.0 PA| 1ERig@11:55 KEIEF (RFAERES)
13:05 138 50.0 FA| 1ERi%@13:05 KRFFEF (KRAEREE)
14:20 138 50. 0 Al 1Ri%e14:20 RENEF (REBHERSE)
15:45 138 50.0 PA| 1ERig@15:45 KEiEF (KREAERES)
23t]1104.0 (8%) 400. 0 32 3KEC: 1673.0, PH: 6.5

EREBRIRL TR R (0.48 vs 0.31)), AREA ZREIENREEIRK

MEARHLERE SFEERTT (24.0 :

LOREBRTC R IR BRI (50 v
ZRINKPRIEBRL16.0 ml.
RE R i3k [B] S RECERE Fh ok
RE BT HEREC/PHIELSR 5, 7]

s 161.0))

REFMIRELR IR

16.0), AIREKFFERE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

MG_0, Day=12 (2025-05-12)

_____________________________________________________________________________________ 800
V1, VESRRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
401 524 [ 600 =
46 -
80 80_400\_5/
20 =
200 o
00 Warning: lcol [FVI',| "FVO’'] missing b0
0 - 60. 0
( FRV 4
100 L 47.5
751 F45.0 =,
5O 4 mmm e o e =
L 42.5
25 -
L 40.0
1.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 TargetEC=1714.0, TargetSetEC=1673.0 t
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 , ;800
100 Bylnit @D13 0%:28: ET=399 Fg=400.0 Ro=14.0 >
: - 600
! N
: e & e e o - 400 £
50_ | —
1 1]
] L 200 E
(6]
Hl—f_/ ¥\—\
O_Isﬂf V- g
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 ] 12 [ 13 ] 14 ] 15 ] 16 [ 17 | 18 [ 19 | 20 | 21 | 22 | 23 F 800
100 - FA EHEREZS R [A A {5 A5 [A A FA FA [A A FA FA 5 5 Iﬁ 5 5 [A FA :é\
ByEt @12 19:09: ET=478 Fg=458.0 Ro=nan ! 600 5
~
1 - 400 E
50 I —
1 1]
] L 200 E
(6]
———0—0—0— I
[ e e e & == ¥ \\\\\‘r_‘_’ g
0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 13 ] 14 15 ] 16 [ 17 | 18 [ 19 | 20 | 21 | 22 | 23 F 800
100 - FA EREAR EAEEA EEA EEAEEA EEA N A FA FA [A A FA FA [A A EEZA EEAEZESEES o~
1 | c
ByWoFy @D13 03:28: ET=380 Fg=400.0 Ro=11.0 000 5
~
| &—o - 400 E
50_ | —
: L 200 £
1 3
1015 1 2 3 4 5 6 7 8 9 [0 ] T2 311416 17] 819 21 2]2[223]°
084 FA EREAR EAEEA EEA EEAEEAE EEA R A FA FA [A A FA FA [A A I EZS EEAEESEES
0.6 -
0.4 -
0.2 -
1806 3 _ 4
o | _obs
—@— PPFD_obs
RH
RH_obs
RHo _obs




49.

48.

48.

47.

47.

47.

46.

46.

45.

45.

48 ~

46

44 -

42 -

M_W

T
600

860
m=600,n FV0=0

T
1000

—— MW

600

605
m=840,n FV0=0

T
610

—o— MW

840

845

850

m=470, FV0=0

46 -

45 -

44 -

43 A

42

—o—

M_W

T
470

475
m=660,n FV0=0

T
480

48.0 A

47.5 -

47.0 A

46.5 -

46.0

—o— MW

660

665
m=870,n FV0=0

T
670

45.10 A

45. 05

45. 00 A

44. 95 -

44.90

—— MW

870

875

880

m=480, FV0=0

46

45 -

44 -

43

42 A

-o— MW

T
480

485
m=690,n FV0=0

T
490

46. 80

46. 75

46. 70 ~

46. 65

46. 60

46. 55

46. 50

—— MW

T
690

695
m=900,n FV0=0

T
700

46.5 -

46. 0

45.5

45.0

44.5

—— MW

900

905

910

m=595, FV0=0
49.0 4 R—
48.5
48.0
47.5
47.0 4
46.5
T T T
595 600 605
m=780,m FV0=0
—— MW
47.0 4
46.5
®
® o
46.0
T T T
780 785 790
m=985,m FV0=0
44.00 - R—
43.95 -
43.90 -
43.85 -
43.80 -
985 990 995




hour

100

8:50
9:50 80
10:50
- 60
11:55
- 40
13:00
15:40
-0
e I
S &




MG

BfiE) | FEBIETK (FD) | EE (EH/AR) | XK ERF

08:50 44 50.0 5| {Ri%@08:50 RHFIEF (KHAER:E)
09:50 44 50.0 5| {Ri%@09:50 KENFEF (RAEEEE)
10:50 44 50.0 5| 1BRi%@10:50 REFEF (KEAERESR)
11:55 44 50. 0 5| {Ri011:55 KENFE/F (RE1EREE)
13:00 44 50.0 5| [Ri%0@13:00 KEFZEF CGRAEESE)
14:25 44 50.0 5| 1BRi%e14:25 RHEF (KRAERSR)
15:40 44 50.0 5| 1BRi%015:40 RHEF (KRAERESE)
=23t| 308.0 (7% 350.0 3EHKEC: 1548.0, PH: 6.5

EORGERB KRR (78 vs 172.0))
ERIASKBRERE23.0 ml.
FE R 1 [ELRECHIE TR K.

FER BB HEREC/PHESRR, FIREFNIMEEIR K




MG_0, Day=11 (2025-05-11)

800

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 669

30 [ 600~

71t 400 £

‘—200
00 o

—_— MW K 50.0

——  maxM

40 -

527
66
20
00 Warning: lcol [FVI',| "FVO’] missing
FRV

——
FRV (ml d-

©
o o
L

-47.5

D
o
!

- 45.0 |

N
o
!

-42.5

FRV (ml plant-1)

N
o
!

1
i ! = 40. 0

o

e
©
1

Warning: lcol ["WC1',| "WC2'] missing

TargetEC=1629. 0,  TargetSetEC=1548. 0

Warning: lcol ['ECB’, 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

1
Bylnit @D13 04:28: ET=452 Fg=500.0 Ro=15.0
1

o
o -
o o

T T
[=2] o]
o o
o o

~
S
S
cumET (ml/plant)

(=2
o
1

L L

ohbe—a—8—=2 800
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

HEE Has Hi EE HEE Has Hi EE HEE Has E3 = E3 E3 E3 = E3 E3 E3 = £33 E3 E3 =

B B B B B B 5] B B B 5] B B B 5] B B B 5] B

ET (ml/hr/plant)

N S
o o
1 1

A
-
-

o]
o
1

T
[=2]
o
o

(=2
o
1

]
ByEt @11 19:09: ET=509 Fg=530.0 Ro=nan o
1

S
o
1

T
N
o
o

S
2
<)
cumET (ml/plant)

ET (ml/hr/plant)

<)
o

g—p o ¢ o ¢ W 800
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
AEALAEAEALAEA AR A A EA AR A A A A A A A A E T R TS

I
ByWoFv @D13 03|:28: ET=371 Fg=350.0 Ro=12.0

o]
o
1

T
[=2]
o
o

<)
cumET (ml/plant)

[=2]
o
1

N $—8—§—3 [

S
o
1

4

ET (ml/hr/plant)

N
o
1

- N I

N

1o e f—a—=

0.6

0.4+

0.2+

—_—
[ ) | _obs
—@— PPFD_obs

80 S

60

RH
[ ] RH_obs
204+ @ RHo_obs

40 -




50.

49.

49.

48.

48.

47.

47.

47.

47.

47.

47.

47.

47.

45.

45.

45.

45.

45.

44,

m=465, FV0=0

50 ]
B4 o wu
43.6
48
43.5
46 - 43.4
43.3
441 43.2 -
43.1 -
T T T T T T T T
600 800 1000 467.5 470.0 472.5 475.0 471.5
m=540,m FV0=0 m=585,m FV0=0
01 ]
o— | 4740
5 -
47.38 -
0 -
47.36
5 —— MW
47.34
0 -
47.32
5 -
47.30 -
T T T T T T
540 545 550 585 590 595
m=670,m FV0=0 m=720,m FV0=0
;] 48.5
—o— MW —— MW
61 48.0 -
5 -
47.5
4 -
37 47.0 -
5 °
46. 5
1 -
670 675 680 720 725 730
m=820,m FV0=0 m=840,m FV0=0
4. 47.0
—o— MW —— MW
3 46. 5
2 46.0 -
Ly ¢ 45.5 -
0 -
45.0 -
9 -
820 825 830 840 845 850

50.

49,

49.

48.

48.

47.

46.

46.

46.

46.

46.

46.

46.

45.

45.

m=480, FV0=0
—— MW
7 H"""%—o—o\',.
47
46
45
44
480 485 490
m=600,m FV0=0
0 -
—— MW
5 -
o -
5 -
0 -
5 -
600 605 610
m=745,m FV0=0
67 —— MW
5 -
4 -
3 .
2 -
745 750 755
m=895,m FV0=0
—— MW
5 -
0 -
5 -
0 -
895 900 905

47.

47.

47.

47.

47.

48.

48.

47.

47.

47.

46.

46.

46.

46.

46.

46.

45.

45.

45.

m=525, FV0=0
407 —— MW
35 4
30 1
25 4
20 -
525 530 535
m=660,m FV0=0
—— MW
5 .
0 .
5 .
660 665 650
m=780,m FV0=0
5 - —— MW
0 .
5 .
0 .
7éo 7é5 750
m=900,m FV0=0
75 A
—o— MW
50 -
25 -
00 -
75 4
50 -
25 4
960 965 91'0




43.

43.

43.

43.

43.

43.

43.

m=990, FV0=0

70

65

60 -

55 1

50 -

45 -

40 ~

—O—

M_W

990

T
995

T
1000




hour

100
6:50

8:20 80

10:10
- 60

11:45

- 40

13:00

14:15

15:40

§_



MG

BfiE) | FEBIETK (FD) | EE (EH/AR) | XK ERF

06:50 44 50.0 PA| 1BRi%@06:50 KEiE/F (KRFHIEREES)
08:20 44 50.0 FR| 1{RRi1%@08:20 KRENFZF (KRFAIEREES)
10:10 44 50.0 |Z=| 1RiB010:10 KENF2HF (RA{EREE)
11:45 44 50.0 5| BRi%e11:45 RHEF (CRAERSE)
13:00 44 50.0 5| [Ri%0@13:00 KEFZEF CGRAEESE)
14:15 44 50.0 5| Bi%e14:15 RHEF (RAERSR)
15:40 44 50.0 |Z=| 1RiB015:40 kENF2F (RAIEREE)
=23t| 308.0 (7% 350.0 IEHKEC: 1466.0, PH: 6.5

ERGEBR BT R IRIERIE N (164 vs 185.0))
BRI SERRIERL44.0 ml.
RE XK i3 B RECEUIR Fhak.

FER BB HEREC/PHESRR, FIREFNIMEEIR K




MG_0, Day=10 (2025-05-10)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 527

40 - 431 59 ~
a3h400 %
E
201 L 200
110 [
00 I Warning: lcol [FVI',| "FVO’] missing 00
= 00.0

FRV

©
o o
L

-47.5

D
o
!

——————ee———— - 45.0 =,

-42.5

FRV (ml plant-1)
S
3
1

N
o
!

- 40.0

o

e
©
1

Warning: lcol ["WC1',| "WC2'] missing

TargetEC=1543. 0,  TargetSetEC=1466. 0

Warning: lcol ['ECB’, 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

©
o
T
=2
=}
=)

!
d
cumET (ml/plant)

80 4 Bylnit @D13 03:28: ET=405 Fg=400.0 Ro=14.0

®
®
®
1
S
o
S

\
T
N
o
o

o o o A

ET (ml/hr/plant)

[ S e E— - Y P P R ——
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

O T T I B m (B | W B BB & &% %% | &6 %% | & |&|B| %% | & 60

(=2
o
1

- 400

T
N
o
o

ET (ml/hr/plant)
cumET (ml/plant)

o

8 | 9
O T T T [ B W B ® | B || B2 & | % | %% (22| & | & | % | & | % | & | & | &

I
60 1 ByWoFv @D1303:28: ET=343 Fg=350.0 Ro=13.0

T
(=2
o
o

cumET (ml/plant)

T
S
o
o

T
N
o
o

ET (ml/hr/plant)

p—ry

0.8 A

0.6

0.4+

0.2+

0.0
1500

—_— 4
[ ) | _obs

1000 ~ —@— PPFD_obs

500 -

RH
[ ] RH_obs
204+ @ RHo obs




46.

46.

46.

46.

46.

46.

46.

47.

47.

46.

46.

45.

46.

45.

45.

44.

44

—o— M
49 W 48.
48 -
47.
47 4
46 ; 47.
45 -
46.
44 -
T T T T T T
500 600 700 800 900 1000
m=625,m FV0=0
87 —— MW
47.
7109
6 - 46.
% 46.
4 -
45.
3 -
2 4 45,
T T T
625 630 635
m=770,m FV0=0
57 o i 47.
0 - 47.
5 - 46.
0 - 46.
5 1 9 o-0-0-0-0-0-0 45,
770 775 780
m=900,m FV0=0
—o— wun | %
01 44.
5 44.
44.
0 -
44.
5 43.
0L | | 43.
900 905 910

o [3)] o ($)1 o
1 1 1 1 1

20 A

15 4

10

05 -

00 A

95

90 -

m=480, FV0=0

—— MW

480 4é5 4é0
m=660,n FV0=0

—— MW

T T T
660 665 670
m=780,m FV0=0
57 —o— MW
0 .
5 .
0 .
5 -
780 785 790
m=935,m FV0=0
‘\\Z/"\\\\xy‘y4.4.‘\\&»4;;]\\\;;;
935.0 937.5 940.0 942.5 945.0 947.5

m

m=540, FV0=0

49.5

49.0

48.5 -

48. 0 -

47.5

47.0

—— MW

540

5&5 5%0
m=700,n FV0=0

45. 40 ~

45. 35 ~

45. 30 ~

45. 25 ~

45. 20 ~

—— MW

700

765 7%0
m=840,n FV0=0

46. 00 ~

45.75 ~

45. 50 A

45. 25 ~

45. 00 ~

44.75 A

—— MW

840

845 850

49.

48.

48.

47.

47.

46.

47.

46.

46.

45.

45.

45.

45.

45.

44.

m=600, FV0=0

—— MW

600

T T
605 610

m=720,m FV0=0

—— MW

720

T T
725 730

m=845,m FV0=0

—o— MW

845

850 855




hour

11:30

100

80

- 60

- 40

20



MG

BfiE) | BRI (FD) | EHME (BEH/H) [ XK ERE

08:15 94 50.0 FH| {Ri%008:15 KEFEF (GRFAEREIEE)
09:15 94 50.0 FR| {RRi1%@09:15 KRENFZF (KRFAEEHS)
11:30 94 50.0 [/ER|  {Ri&@11:30 REFEF (RAERERSE)
2it| 282.0 (3%) 150.0 3E3FFKEC: 1457.0, PH: 6.5

ERGER R TR K (0.34 vs

0.27)), FIRER % WELESEEIRK

TERBHESE STEEARRT (48.0 : 38.0), AIREKRFERME

EORGEBATC R IR IR R R I (140
ZRINLPRIEBRL38. 0 ml.

R i3 B RECEE Fh k.

RE BT HEREC/PHIELSR 5, 7]

vs 185.0))

REFMIRELR IR




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

1

1

1

1

1

1.
oadAM| B [ BH ||| BA A [vEa| BA | BA [ BH |/l | /vEl (B | PSRl | Pma (Bera | BH | BA [ P | BH | BA [ FH | BA
0.6
0.4+
0.2~
0.0
600 - P

MG_0, Day=9 (2025-05-09)

40 -

20 A

V1, VO2ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

431
32
47
107
00 Warning: lcol [FVI',| "FVO’'] missing 00 I

S =2} e
o o o o
1 1 I

N
o
1

FRV

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1457. 0, TargetSetEC=1457.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

50 -

=

Bylnit @D13 0

:28: ET=231 |Fg=200.0 Ro=7.0

58 3

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

00 4+ ByEt @D9 18:38: ET=179 Fg=332. 0 Ro=han

50 -

Am| BB [ B || @ [ | M | B [ W | m | M [ MW |m [/ | M| m[/m | M| m|[Hm ]| M| B[]

59_ i oo =N —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

I
004 ByWoFv @D13 03:28: ET=107 Fg=150.0 Ro=2.0

1
1
1
1
50 ~ I
1
1
1
1

A | BA | BA ||/l | B (/e v | BA | BH [ BA | /va [/NER | B [RaER | BEm (PERR | BH [ BA | BA [ BA | BH [ BA | A

0

18 19 20 21 22 23

—_— 4
| _obs
—@— PPFD_obs

1.00 - ®
S

- e v P

T
S
o
o

cumET (ml/plant)

T
H o
o
o

cumET (ml/plant)

T
H o
o
o

cumET (ml/plant)

- 200

—o—e——=o0 | 200

—o—eo—e—o—o_ |20



46.

45.

45.

44,

46.

46.

45.

45.

44.

47 -

46 -

45 -

44 -

43

42

41

M_W

660
m=600,n FV0=0

T
800

—0— MW

600

605
m=840,n FV0=0

T
610

—0— MW

840

845

850

41.

41.

41.

41.

41.

46.

46.

45.

45.

44.

45.

45.

45.

44,

44,

44,

m=405, FV0=0

50

45 -

40 -

35 -

30

—o—

M_W

405

4%0
m=660,n FV0=0

T
415

—— MW

660

665
m=850,n FV0=0

T
670

—— MW

850

855

860

m=480, FV0=0

46

45 ~

44 -

43

42 -

—0—

M_W

480

485
m=705,n FV0=0

T
490

44. 80 ~

44.78 ~

44.76

44.74 -

44.72 A

44.70 ~

M_W

705

710
m=900,n FV0=0

T
715

46.5

46.0

45.5

45.0

44.5

—0—

M_Ww

900

905

910

44.

44.

44

44.

44,

44.

47.

47.

46.

46.

45.

45.

m=530, FV0=0

—— MW

550

5%5 560
m=720,n FV0=0

—— MW

720

725 730




